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1 BREEIRD 2 AT
W 4 (3) PRIBIE P TR 1 2% HE | e | e | B
BRAE H % (H)

H7E A7 B it Giiip) Giiip) Giiip) Giiip)
181 % & K 0 8 29 37 1,643 8,808 0 10,451
2F % = K 0 0 0 0 2,973| 17,302 734 21,009
3 IFTETREKK 26 5 21 52 1,200| 13,485 576| 15,261
4 AR R 29 4 37 70 3,266 26,436 1,744 31,446
5% & & K 34 3 44 81 830 24,238 890 25,958
64 F R K 40 5 3 48 2,421 19,365 3,494| 25,280
TE WK 37 4 5 46 1,929 18,839 0| 20,768
KEFYVNA - - - - = = = -
Fh) 37 4 5 46 1,929] 18,839 o| 20,768
8 m |’ X 50 12 49 111 1,920 8,700 63 10,683
AAEF A 50 12 49 111 3,246 21,923 103 25,272
AN LA 0 0 0 0 0 0 0 0
() 100 24 98 222 5,166 30,623 166 35,955
9 B H #& K 31 14 22 67 485 747 232 1,464
10 1 £/ 1= K 37 4 11 52 843 9,295 1,698 11,836
11w & E K 46 12 16 74 4,074| 13,938 932| 18,944
124 # X 45 5 26 76 756 7,174 0 7,930
13 K ok = % K 44 9 51 104 3,928 26,454 777 31,159
4 8B & X 24 3 0 27 332 7,640 112 8,084
15 mi f& T B X 28 0 39 67 1,156 13,582 1,189 15,927
16 @ R % K 26 9 45 80 412| 15,213 1,116 16,741
17 BER R RMARER = = = = = = = =
18 & £ R’ X 27 1 11 39 3,262| 28,785 2,120 34,167
19 5 #8 K K = 48 5 32 85 2,977| 66,205 1,641 70,823
H BF 38 8 39 85 1,370| 18,140 1,620| 21,130
sl fE 31 4 6 41 1,816 17,932 0 19,748
(Fh) 117 17 77 211 6,163 102,277 3,261 111,701
20 Az IRAE R 42 3 26 71 3,079 9,487 5,083 17,649
EEH 4 — 25 0 5 30 1,140 6,837 0 7,977
() 67 3 31 101 4,219 16,324 5,083 25,626
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1 BREEIRDL 2 AV
4 (3) PRIBIE P TR 1 2 sE | e | e | w
BRAE H % (H)

7R A% BE i (1) (1) (1) (1)
21 B & THOK 33 8 2 43 3,818 36,307 487| 40,612
[ 4— 47 6 2 55 5,086 10,818 4 15,908
[T AV 47 6 2 55 162 859 74 1,095
G 127 20 6 153 9,066 47,984 565 57,615
2% W &/ K 29 7 6 42 2,188 13,665 1,642 17,495
23 & b /K 41 2 32 75 524 6,235 855 7,614
24 1 )l F K 58 6 13 77 2,048 13,840 2,038 17,926
25 1 )1 B’OR 0 0 0 0 0 0 0 0
26 &N FET K 0 0 0 0 1,182 17,337 630 19,149
27 & H |’ K 38 6 24 68 1,813 17,881 4,597| 24,291
TNy 38 6 24 68 - - - =
(Gip) 76 12 48 136 1,813 17,881 4,597 24,291
28 B /K 33 6 15 54 259 2,307 185 2,751
Filk 32 3 2 37 506 5,830 762 7,098
() 65 9 17 91 765 8,137 947 9,849
29 #f ® X K 37 7 32 76 1,183| 37,481 656 39,320
30 i BOFE K 48 4 40 92 2,526 24,951 539 28,016
31 B F=BER 33 11 22 66 461 3,483 35 3,979
RYA A SN 51 13 6 70 360 648 0 1,008
BRI N N 22 11 32 65 2,564 31,181 402| 34,147
34 % /K 24 7 2 33 23,519 38,863 491| 62,873
35 & H = K 34 10 0 44 748 6,305 0 7,053
36 & M F K 31 7 2 40 999 9,387 1,397 11,783
37T & d B 0 0 0 0 0 0 0 0
D5y E 42 4 8 54 2,634 20,163 0 22,797
N4 39 4 11 54 8,626/ 15,523 0| 24,149
5y B 24 0 0 24 348 1,968 0 2,316
b TR 16 5 10 61 1,997| 10,908 0| 12,905
(Gip) 151 13 29 193 13,605 48,562 0 62,167
8= EF K 26 7 40 73 884 10,285 2,985 14,154
R = SN 36 8 13 57 3,169 30,259 3,836| 37,264
40 W K 25 3 31 59 855 16,903 0| 17,758
41 M E K 49 10 24 83 3,951 7,728 1,349| 13,028
1B XE == 0 0 0 0 0 487 0 487
(Gip) 49 10 24 83 3,951 8,215 1,349 13,515
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1 BREEIRDL 2 AV
4 (3) PRIBIE P TR 1 2 sE | e | e | w
BRAE H % (H)

7 A7E B i Giiip) Giiip) Giiip) Giiip)
42 M = K 20 0 0 20 861 10,604 0| 11,465
43 K B K 27 33 64 7,754 52,166 8,168 68,088
SN 44 7 4 55 877| 12,314 1,183 14,374
PREF 27 6 27 60 3,021 16,619 0 19,640
TR 0 0 0 0 0 0 0 0
A b 7E 0 0 0 0 49 854 28 931
PRI 36 3 37 76 182 737 40 959
R 0 0 0 0 1,983 3,729 107 5,819
N B 31 4 37 72 1,487 3,455 1,578 6,520
FES B 5 X 0 0 0 0 241 153 63 457
GH 165 24 138 327 15,594|  90,027| 11,167 116,788
44 K B oK 34 6 7 47 9,320 92,851 12,331 114,502
[EXE 39 5 6 50 2,417 4,843 274 7,534
N 28 5 4 37 1,019 6,963 252 8,234
P D 34 5 12 51 0 0 0 0
R 0 34 5 12 51 0 0 0 0
RS 34 5 12 51 0 0 0 0
SCEE 34 5 12 51 0 0 0 0
Bkt 34 5 12 51 0 0 0 0
TS50 34 5 12 51 0 0 0 0
HETERMEED 34 5 12 51 0 0 0 0
TG - 34 5 12 51 0 0 0 0
R BT 0 0 0 0 0 0 0 0
FEFRAF L - 0 0 0 0 0 0 0 0
() 373 56 113 542 12,756| 104,657 12,857| 130,270
45 & i ROR 37 4 32 73 154 1,110 3 1,267
PP S T 44 7 37 88 9,702| 20,635 0| 30,337
M E S 36 6 36 78 3,134| 30,599 350| 34,083
TR 36 4 36 76 1,455 13,464 108| 15,027
MR FTES 36 4 36 76 1,698 4,505 510 6,713
A 37 4 32 73 5,455 20,430 0| 25,885
R 49 5 38 92 208 845 4 1,057
(Gip) 275 34 247 556] 21,806 91,588 975 114,369
46 #f 7 4 K 25 3 20 48 3,211 38,371 880| 42,462
47 w7 TR R 28 5 14 47 3,0000 22,821 1,200 27,021
18 & B BROK 39 4 23 66 845 2,964 88 3,897
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1 BREEIRDL 2 AV
4 (3) PRIBIE P TR 1 2 sE | e | e | w
BRAE H % (H)

H7 A% BE i (1) (1) (1) (1)
49 Fn #k b E K 50 4 11 65 2,711 10,177 0| 12,888
=N 38 6 29 73 9,697 1,244 81 11,022
&h 88 10 40 138 12,408 11,421 81 23,910
50 & R |’ K 24 5 15 44 803| 14,967 26| 15,796
51 F (i B’ K 42 8 22 72 2,797| 27,048 172| 30,017
52 W NL R B K 38 4 30 72 739 23,073 3,934 27,746
FEJR 40 5 33 78 307 6,868 791 7,966
ZJR 33 4 18 55 3,173 14,988 1,481 19,642
Gh 111 13 81 205 4,219 44,929 6,206| 55,354
53 A B T K 41 4 6 51 4,296| 25,214 0| 29,510
54 B 1B K % 31 8 33 72 564 8,742 65 9,371
55 1 B /K 31 3 21 55 1,472 13,715 0 15,187
56 T B K 42 2 44 88 3,477 14,422 1,322 19,221
57 & I & B K 32 9 13 54 1,501 5,679 120 7,300
58 B IR [E L K 35 7 3 45 1,880| 13,915 1,690 17,485
59 m k1 & K 28 5 7 40 6,946 4,829 3,262| 15,037
WAL 28 5 7 40 4,561 6,783 1,248 12,592
&h 56 10 14 80 11,507 11,612 4,510 27,629
60 Ju N B K 28 0 27 55 1,642 6,919 0 8,561
61 & [ % K 44 6 15 65 927| 10,802 162| 11,891
62 @ [ B’ K 33 7 25 65 743 3,206 63 4,012
F#EoE 33 7 25 65 1,911 4,808 50 6,769
&h 66 14 50 130 2,654 8,014 113 10,781
63 & Ju M K 38 1 41 80 2,882| 29,128 5,802| 37,812
V¥l 42 9 35 86 682 8,382 5,105| 14,169
(Gip) 80 10 76 166 3,564 37,510 10,907 51,981
64 K 5 F K 31 6 24 61 2,322 9,441 2,262 14,025
65 £ I B’ K 42 6 15 63 1,375 19,921 1,544 22,840
66 > —Rk K 43 7 9 59 1,980 22,664 6,466 31,110
67 g A R K 37 9 45 91 1,436| 22,274 2,285 25,995
68 = I FH K 31 3 26 60 1,977 7,701 9,703| 19,381
69 = I A K 38 3 7 48 1,118| 20,771 28| 21,917
70 MR = K 20 6 13 39 957 5,517 225 6,699
71 M F K 36 5 11 52 1,643 8,409 1,419 11,471
& 3,724 587 2,150 6,461] 246,011| 1,532,494| 124,910| 1,903,415
Rk (%) 13 81 7 100

51



